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L. “If M is the midpoint of PQ then MQ = —1—PQ 7. The following statement:

Ry —P then M is the midpoint of PO is th "

. Q=—PQ, then M is the midpoint of PO ” is the Eonverse = _ﬁ/;ﬁﬂez?! !

. o A =

A _contrapositive - i € ”Gﬁ‘#’m

B converse '

o€ inverse
D

‘bﬂ’l‘f—“‘[)d sihve = B et andd g egecfive !

'cohélusiqn = _ gaﬂpéqgmﬂ ’}/ le iyqr‘i’"‘ﬁ“flwfﬂf

\ . - ' ”f“g\& i
}ﬁ Whlch Con]ecture is always true based on the given mformat10n‘7’

t
- B L

7‘5‘%:

leen AC DF
BC -DE~

en "'fy the counterexample for the conjecture A/l prime numbers are odd.

. 89 is a prime number
none of these

5 is:a prime number ) ,«?e‘g&%»—%* .;,Agwwg‘ ‘(”ﬁhéﬁﬂ o ’U ’Erf L

s C
D
4. Find the coordmates of the m}dpomt of MN for M(8, 8} and N( 2, 2),

(5,3).

© 065 5 »% £”“?3 j’_f> N
D. (8,0) LRt T2 g_%
RS ) ' e’ a
( 3,5) U N
5. IWallb,ms1 =3x~2, and ms2 = 2x+22 then ﬁnd mAI i j/ ii//Qf ?
: . LS gjofy‘ﬁ*ifamfe@
A 240 . 8 . . : o 32(-#2/ 2%3?{:,%(;3 é’%m?k@‘é
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1z |
Find the value of x. X257+ o ! |
AT ' >4 (oclerinr @@1@ = S vt
B 47° : r\emm(e, (fedor e«m@( eé\}

cC 79

Oum . | |

7o The perimeter of APIG is 63. By solvmg for x determine whether APIG is isosceles, scalene, or equilateral ‘
: P

2 %w ¢ (223444/1) Hzx-+{(3) =63
- =65
&§+‘i +3%; 24 X+t &

bx 44 =63
o —

'; _ isosceles = 2 5 g;é%?; f?‘w 434'“(
(B )scalene — v Sitkad @punl  2x+4
'¢qu11aterai ﬁ{ﬁ % tadat é‘?;m

x+7 1 -
i : (axrr T e SY ?[usrfm)
8._ Determme WhICh set of numbers cainl be the neasures of the sides of atriangle. ~ 7 T A 6?
e X. f.éﬂ?’%?‘g; Séé‘g@ P vNe ijf«*’j ?‘”W & @
. A::_.:-_ 63 (Aey < w{%w% g i @i@?
C B 3,10, 13 >< s e
4,6 1.}(._ N

A

* 10. Find the sum of the measures of the interior angles of a pentagon. # -~ = Z [ Y(;?
S 7
A 72° e |§o (n-2 > z
B 18 i?ﬁ@{; -2)

@’5406 : (g2{3)

11. Jack and Jill are gomg fo the movies, They can choose from movie A, movie B and movie C
but both of them will go fo the same movie. What is the sample space for this sfruation?

A {AA AB, AC, BA, BB, BC, CA, CB, CC} {aryp‘g j‘/qc@, - ,15“}7#’:?074."3 U ‘ﬁuﬂ'y‘é

{AB, AC, BA, BC, CA, CB} C Oatawed
é) {AA, BB, CC} Lo

{AB, CA) s :
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should you usé?

@ Combination
B ' Permuiation

12 Suppose you must select a committee of 3 from 10 people. Which of the following

L/ofﬁt@f ﬁ!oe/gﬂ‘!} M@f — éafflé{/\aﬁ}"n; -
(0 rdtr mﬂ#ﬁ(ﬁ == gaﬁﬂﬂféﬁ‘ﬁgﬁ

. | Therefore, one point is (0, 3)

2™ point Jety = 0; then

3x-+4(0)=12

=12

x=4

Therefore, another point is (4,0)
The slope is -

0-3 3 B _E

4 {) 4

Add ~3x td'B'ofh éidés:_. N

4y= —3Ix+12:
Divide both. sides by 4:
3
y=—-—x+4
¥ 4

Therefore, the Slope of the line is —%

These two algorithms are equivalent:
Always

B Sometimes
C' Never

MAO90A, Geomelry
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C - Probability s Zio ‘
D Pythagorean Theorem l?l ! é;
13 There are 15 dlfferent books How many groups of 6 can be selected? é . -}7‘ ‘3‘3 +t 5
R SR . ("#‘éﬁéw /’ﬁf@ﬁ:{?é it el =o Cowt {NFTTION m i%ﬁ
"--Av'ggo C (2’ 5~ Sz °e
".'_5005 e 7 15‘“‘ }g’%ﬁg“}i"ﬁkfe V46 @wg—» 3___*__{{
Ry 1 3603600 o e T a -
T e gl(rr—é)‘ AT e e
14, Flﬁeen peopie are entered in a race. If there are no ties, in how many ways gan the first two places come >
B out'P ' ordes m:ri—}cfj —/fe/umf‘f@z‘ﬁ S é xef .
@g.a
L 15 Obsetve these two a.lgonthms for-‘fmd the slope of the hne with equation 3x + 4y = 12
Transform equation 3x +4y = 12 into slope- 597}/1 m =
intercept form’ y = mx+b {)r@ﬁ:’ﬁg"‘fﬁ
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16. In the figure, what point is collinear to M and H?

ﬁ

CJ
DL

Qvl\

F / \ J
M : L

7. Given to intersecting lines as shown. What conclusions can you draw?

A mZAED=mLBEC v (yerds ’“‘3}
B mZ AED+m £ DEC= 180 M{fg«%mxét’@} /'B

ms AEB and m« DEC are vertical angles W A = —C
/- all of these /

S D

e 2 T (F P
_ éjﬁ"-\- &@* 2= £

o, e .- ;g. :
D & ”;...‘g > ey

B C

20, Wthh 6f the following is nof a bdé‘tﬁiaﬁe used to prove the congruence of triangles? '

B sss
©nan

D ASA

21. ' Find the sum of the measures of the eﬁctérioi' ahg!es of a hexagon.
A 60 alusys 3o
B120 :
(o0
D 900
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ii# . Find YX if X is between Y and 1 Z, YZ =10, and X7 =2,
zj{fﬁ_u-a {9 §OF ‘{&’f’ﬁ *
v #
3‘”“’7 ~ 2 .

{

fﬁ

©

0w
RS

23. What symbol is used to indicate two angles are congruent?

. - .. 24Wh10h of the followmg describes an angle whose measure is greater than 0° and less than 90°7?

@an acute angle
- B an obtuse angle
_ "C:aright angle o
D a'straight an'gle_ S

. -Idcntify the conclusmn of thls conchtlonal statement
“h two angles are Supplementary to the same angle, then they are congruent,”

.—(« (00,\01{,,&,9,&1\) ’V‘e” (fﬁﬁ/t@ic,@igﬂ)

3 angles are supplementary to the satme angIe '
B they'are congruent
€ both A and B

.. neither A nor B

. The measure of two angles of a trlangle are 47° and 79°, What is the megsure of the third angle?

(ks o Yy 3 angley in A add-te 152)

o s 4 2
ciore TR ff@ ,,5%‘
b . 5

27. The measute of a base angle of an isosceles triangle is 76°. What is the measure of the vertex angle?

€%

B 76°

—~5L
C 104° “’inﬁ Rz
D 152°
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29.

ff{@ 28. Find the value of x.

L‘}K‘l‘lw\?{' am“)(e Crism o{?‘i‘z;i”zj, aw}(éJ
o l——
AT >c(
B 47° 54°
5. =7
101 . I
g0 T Es’f
Medro b e 20
In ARST, m/R =x+ 10, m£S =x+ 5, and m£T = 3x —35. Choose the list that shows the angles correctly
| o.l.'flere.d from larg'égt-._t_.o smallest. . é{ Seim /’0 (§57
A /8, LT, LR ) Ko b YT I =35 =IO
B./R, LT, 28 T & > Sx —20 =182
o 7. T, LR,-ZS A ’%ﬁ:ﬁfﬂm &2 - X ofem
D AR Z8, ZT Snm

L m42 999 m,£1

g“’" ¥

: f is amedtan

C isan angle bisector of Z/BAD

' C_A isequidistant from B’ and D [z

33,

(D /AC is an altitude s B c D

":.Whlch of the following descﬁbég the segment drawn from a vertex of a scalene
triangle to the midpoint of the oppos1te 51de‘?

A atriangle bisector
B  an angle bisector

@ a medlan

D an aItttude

If mLABD 45° and mZABC = 120° ﬁnd m<DBC. E(\é/‘)

A 70° :fig;

(B Jis° '

C 80°

D 120° >
C
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(7 34, IfEB bisects ZAED and mZDEB = 61°, find mZAED.

A 30° tof
“B.90° A B 72 ¢
(Char /

D 180° 0

| 35 - 'Which isa pair of corresponding angles?

C(R)stend ss
“Bo42and 4500
CNC L2and s
D43 and /8

36. Givenallb, findms6. o )
D e R Sayra. Q‘Cgig{,,{f(;j f«/}/{zﬁﬁ-{_ﬁ?‘arg’

P

: A 270
@630 |
CopEnrE

y
o
o~

5 37 If ;z:-//. b, and m£1 = 5x — 28, and m~/2 = 2x + 11, find the value ofx. o
B s ki = S~ oG E

3 S
37 ' T s 328

38. Gi\j(f'_:h that F1 = TO and £1 = 20, Name one additional pair of corresponding parts
~ that need to be congruent in order to prove that AFIG = ATOM by SAS.

A FG=MT
B m/F=msT |
@é;OM | |

D FI=OT F
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. Find the value of x.

. Given ARST = ADEF, RS =27, EF = 15, =
C)'f AL

1) 21 R-. S B Zyil i
Tl = 2T
- é R
40. All rectangles have %;;W\ : -
wh F

A four congiuent sides, &<
_perpendicular diagonals >, I

- Cfour right angles @ e
D’ diagonals that bisect angles <

ABCD tsarhombus IfAM 7 fmd AC .
yhom bus =il (koS <gya

> ﬂrcxgj é

L crf/w/

A 35

42 leen Parallelogram MATH as marked: Find TH.

17
2?6 7 fﬂmz’ ww““"’?cé
C17 8 60y 5idt) ="
D 34 4
' . Vi

Ry ¢ T

43, RHOM is arhombus. f m/RBH ='-*.*4.x"—' 2, find the value of x.

/}!oﬁL//’ @ f :::f}?ﬁﬁyi« -L

AL22
(B)23
C 67 Yx~2 =
D 90 Yy = ﬁz
-7 Y
gf_. = 2“3
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44. If ABCD is a parallelogram, m<D = x, and m£A = 3x + 4, find the value of x.
B

43 7
SR &
cas -

Dae -~ oot a

45. 1t DEFG is a square, find m/DEF.

A0
B 45° "

LGB0 )

46, In an 1sosceles tra ezmd the bases are L

arailel segments :
"B bisectors of each’ other e
e perpendwular segments

SRR D"' ongruent segments e

4T The measures s of the bases of a trapezoid are 22 and 28. What is the measure of the
R median of the trapezmd‘?

2
i S : £ "WW

48. Find the slope of the line passing through (1, 3) and (-2, 5).

R Jomdy 53 L E

- B =y
- 3

MAGIOA, Geometry First Semester Final Exam Review 2
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s

VA

2z
42§ —
Yy -
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49. Which figure shows the line with a slope of 2 passing through P(1, 2)?

- F 3
A .
I
o
¥
B rs
[
“ -
L v
e A
N
o -
IS Ll
\
k 4
D . F 3
L~
A
" ] .
= >
A 4

50. What is the slope of the line perpendicula

MAO90A, Geometry

1
Jicular to a line with slope ofa ?

T,

R

s 2‘ : M«?eg;\;& 4 £e ﬂgf@?f . fI
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Geometry 1% Semester
Multiple Choice Review — Key

28 & P

B
A 29. C
A 30.
c 31.
c 32.
D' 33,
34,
o B
D 35,
o
10. D

A
D
C
8
C
A
B
¢
B
c
C
C
B
]
D
A
A
B
A
D
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Geometry Name:

1° Semester Final Review

— 1
1. “If M is the midpoint of PQ, then MO = EPQ . The following statement:

“If MQ = %PQ , then M is the midpoint of PO is the

A contrapositive
B converse

C inverse

D conclusion

2. Which Conjecture is always true based on the given information?

Given: EEDE .A e ]i : E
BC=DE
_ ® *— .
o D E F
A AB=FEF
B AB=DE

D AC=FF

3. Identify the counterexample for the conjec‘furefAll prime numbers are odd,

"~ A 2isaprime number
-+ B 5isaprime number
7. €. 89 is a prime number
D none of these

4. Find the coordinates of the midpoint of MN for M(3, 8) and N(-2, 2). - -

A (55
B (5,3)
C (3,5
D (8,0)

5. al/fb,msl =3x-2, and m~£2 = 2x + 22, then find m.1.

24°
68°
70°
72°

0w
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6. Find the value of x.

70

47°
79° T C T ox b 47°
101° .

g%

7. The perxmeter of APIG is 63. By solving for x determine whether APIG is isosceles, scalene, or equzlateral

P
A lsosceies o
B scalene 2x+4
C equilateral - 3x-2
G D & 7 R |

8. Determ.iné. Wﬁiéh'sét’ of numbers can be the measures of the sides of a friangle.
@3 5
10,13

6,

7

>

Sawe
”wﬁwp
w»—-nv

>

9. GivenAD = CD'&_f;d DB Bisects AC. By what method is AABD = ACBD?
ASA |

S8 e
SSA

TOwE e

A B C
10. Find the sum of the_ r'n_e:a'Surés of the interior angles of a pentagon. . - .
72°
108° -
360°
540°

Taxw

11. Jack and Jill are going to the movies. They can choose from movie A, movie B and movie C,
but both of them will go to the same movie. What is the sample space for this situation?

A {AA, AB, AC, BA, BB, BC, CA, CB, CC}
B {AB, AC, BA, BC, CA, CB)}

C {AA,BB, CC)

D {AB, CA}

MAOIOA, Geometry First Semester Final Exam Review 2 Page 2




12. Suppose you must select a2 committee of 3 from 10 people. Which of the following

should you use?

A Combination

B Permutation

C  Probability

D Pythagorean Theorem

13. There are 15 different books. How many groups of 6 can be selected? _

A 90
B 720
C 5005
D 3603600

14. Fifteen people are entered m 4 race. If there are no ties, i

out?

A3 . -
B 105~ . .
¢ 210 .0
D 420 .

15. Observe these two alge.ri.thi:né for find the slope of the line with equation 3x + dy=12

Fmd two points on the hne by substltutlon
" point: letx=0;then . .-

3(0)+4y=12.

4y —'12

y=3 . :
Therefore onc pomt is (O 3)

2™ point lety=0;then .

3x+4(0)=

3x=12

x=4

Therefore, another point is 4.0)
The slope is

0- 3 3

4-0 4

Transform equation 3x +4y =12 into slope-
intercept form y = mx + b

Add —3x to both sides:

dy=-3x+12

Divide both sides by 4:
3

y=——x+4

Therefore, the slope of the line is ——%

These two algorithms are equivalent:
A Always

B Sometimes
C Never

MAO9OA, Geometry

First Semester Final Exam Review 2

n how many ways can the first two places come
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16. In the figure, what point is collinear to M and H? G

A .

B

C F !

17. Given to intersecting lines as shown. What conclusions can you draw?

- m £ AED=m 2« BEC
in Z AED+m 2 DEC =180

m/ AEB and m./ DEC are vertical angles A< = »C
. all of these . . v - 5 /

T oW e

18. What is the supplement of 65°7
A 25°
B 65°

- C 115°
D 180°

19. Find the measure of ZABD.

B §2° -
C 98°
D 175° L 3x+5/ 2x+20
A . B c

20. Which of the following is not a postulate used to prove the congruence of triangles?

A AAS
B SSS
C AAA
D ASA

21. Find the sum of the measures of the exterior angles of a hexagon.
N
B 120

C 360
D 500
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22.

23.

24,

25.

26.

27.

Find YX if X is between Y and 7, YZ = 10, and XZ = 2.

A8
B 10
C 12
D 14

What symbol is used to indicate two angles are congruent?

A:
B |
C L
D

It

Which of the followmg deseribes an angle whose measure is greater than 0° and less than 90°?

A an acute angle

B an obtuse angle

C arightangle: o
D a straight angle SR

Identify the conclusion of this conditional statement:
“If two angles are supplementary fo Ihe same angle, then they are congruent.”

A two angles are supplementary to the same angle
B they are congruent. -

C both A and B

D neither A nor B

The measure of two angles of a triangle are 47° and 79°. What is the measure of the third angle?

A 54°
B 64°
C 101°
D 133¢

The measure of a base angle of an isoscelés triangle is 76°. What is the measure of the vertex angle?

A 28°
B 76°

C 104°
D 152°
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28. Find the value of x.

A 7° ,
B 47° 543
C 79°

D 101 X i

29. InmARST, mZR=x+ 10, mZS =x + 5, and m/T = 3x - 35. Choose the list that shows the angles correctly
ordered from largest to smallest. .

A /S, /T, /R

B /R, £T, £S

C LT, /R, /S
D /R, /S, 2T .

30, ms277mesl A

A<
B> 3 P
C:
D=

31. Given £ 1= .2, which ofthe following is true? -~ = oo
A AC is amedian’ .
B E is an angle bisector of £ BAD

C A is equidistant from B and D
D AC isan altitude

32. Which of the following describes the segment drawn from a vertex of a scalene
triangle to the midpoint of the opposite side?
A a triangle bisector
B an angle bisector
C amedian
D an altitude

33, HmZABD = 45° and mZABC = 120°, find m/DBC.

A 70° A b
B 75°
C 80°

D 120° >
B C
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34. IfEB bisects ZAED and m/DEB = 61°, find m./AED.,

A 30°

B 90° A B
C 122°

D 180°

35. Which is a pair of corresponding angles?

A Zland 25
B £2and ~5
C Z2and /6
D A3and L8

36. Given a// b, find m4§6 '

A

A 27°
B 63°
C 105°

pur S

37. Xallb and ms1 = 5x 28, and m/2 = 2x + 11, find the value of x.

A

A4
BS5
C 13
D 37

38. Given that FT= TO and £I = £O. Name one additional pair of corresponding parts
that need to be congruent in order to prove that AFIG = ATOM by SAS.

A FG=30T M
B miF =msT
C _ISEOM \ I o T

D F =0T
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39,

40.

41.

42,

43,

Given ARST = ADEF, RS =27, EF = 15, and DE = 3x + 6. Find the value of x.

=ReR--=
SR

AH rectangles have

A four congruent sides

B perpendicular diagonals

C four right angles

D diagonals that bisect angles

ABCD is a rhombus, If AM = 7, find AC.

A 3.5
B 7
C 14 M
D 28

Given: Parallelogram MATH as marked. Find TH.

As ' M 17
c 17 -
D34

H

RHOM is &II’hOIIn.BIIIS.._ If mLRBH = 4x — 2, find the value of x.
et R

A 22
B 23
C 67
D 90

MAOSGA, Geometry . First Semester Final Exam Review_2
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. 44 If ABCD is a parallelogram, m./D = x, and m./A = 3x + 4, find the value of x.
o A B

A 43
B 44
C 45
D 46

45. If DEFG is a square, find m.ZDEF.

A 30°
B 45°

C 60°

D 90° . oo

46. Tn an isosceles ﬂapeioid, the bases are

A vparallel segmients .
B bisectors of each other
C perpendicular segments
D congraent segments -

47. The measures of the bases of a trapezoid are 22 and 28. What is the measure of the .~

- median of the trapezoid?
A 25

B 36
C 39°
D 50

48. Find the slope of the line passing through (1, 3) and (-2, 5).

MAO90A, Geomeiry First Semester Final Exam Review 2
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49. Which figure shows the line with a slope of 2 passing through P(1, 2)?

4
A .
B
. P
. Y
B '
f
. v =
C A
:‘
F
< N N
- \ '
AN
- \ 4
D' . F 3
/ Jr
It
- -1 »
A 2
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